O AR A FEX AR S BOM VR B T SN 2 DR (FER)

B FiT
20234 FH
%A 20224F 20224 20234 HH20224F
HEH PATH HHEHK iﬁﬁi{i@)&
ALTRIFA B S1EE N 29 #DIV/0!
XL R e I 4 2 FE ) S 29 #DIV/0!
BE B 7= 5 Tk 7 #DIV/0!
oAt o L s b kR 2 T B 5 22 #DIV/0!
#h 2R R S Y 1,471 1,945 126 -91. 4
KRR RS B Ja I EA R G 5 1,471 1,945 126 -91.4
% BN B 520 645 8 -98.5
LAVl AN 22 951 951 -100. 0
oAt R b Y K PEAS I 5 PR AR ik < S 349 118 #DIV/0!
BEEXZH 406, 591 240, 520 200, 911 -50. 6
A A P AL LR N 22 HE R S HY 379,513 129, 105 173, 833 -54.2
AEHS AR I M S 18, 207 43,431 13, 503 -25.8
T RS 20, 108 8, 367 10, 108 -49.7
I S 307, 236 62, 607 135, 611 -55.9
AR BT B 1 S HY 1, 562 4,935 6, 427 311.5
F B AR RS H 6, 000 5,426 6, 000
BRARAE b5 32 H 2, 800 1,592 -100. 0
AV A7 R S HY 368 384 #DIV/0!
BNV AN A AR S 800 #DIV/0!
FoAth B A7 A HIAS L RN Ze R A S 23, 600 1,579 1, 800 -92.4
A i e R < e R ST 16, 500 4,436 16, 500
AR AT AMEE ST 16, 500 3, 050 16, 500
I RS 1, 386 #DIV/0!
AR A T R B < 2 HER ST Y 2, 069 421 2, 069
I8 T HE AL VA B 2 HE S 3,924 2,075 3,924
FUA I 7 FE A B T & 2% 2 HF R ST 3,924 2,075 3,924
T5 7K AR B 9 22 R I S 4, 585 4,083 4, 585
T 7K AL BVt i B A1 IS 8 4, 585 4,083 4, 585
B X S & IR IO 22 HE K SCH 100, 400 #DIV/0!
FCAR P X 0 £ T IO 22 5 100, 400 #DIV/0!
Fofty > it 191, 465 255, 740 6, 024 -96.9




O AR A FEX AR S BOM VR B T SN 2 DR (FER)

B FiT
20234 FH
BT 20224F 20224F 20234F ¥ 202245
HEH PATH HHEHK iﬁﬁi{i@)&
AL R A 2 < B Xk I8 T3 5 MO 22 HE AR S Y 188, 789 252, 942 -100. 0
FoAth it 77 5 AT B 0T H s U N 22 R 0 S Y 188, 789 252, 942 -100. 0
RO it i AR S 2,676 2, 798 6, 024 125. 1
M T A SAR MRS 2 S 960 702 800 -16.7
MRS Sl IR A 2 e S H 813 853 800 -1.6
T HE SRR A a5 57 #DIV/0!
M+ dlb R R A 2 3 6 #DIV/0!
T RN S B A 2 a5 141 352 -100. 0
T30 2 BRy7 S B RS A 2 S 66 92 ~100. 0
T Hotat o A 2 b R SR A 2 S 696 736 4,424 535.6
BIF AT B 12, 000 22, 536 30, 000 150.0
7 BUR & B3 554 B S 12, 000 22,536 30, 000 150.0
A A P A 1k 53 95 A5 B S 12, 000 4,274 30, 000 150.0
ik 2 TR A B ST 2, 352 #DIV/0!
B X B0 e I A B ST 1,405 #DIV/0!
oAt 7 8 AT B A0 H Wi 8 & i A4 S 14, 505 #DIV/0!
BB RAT A 300 311 300
T BURN & B3 55 54T 9% T S 300 311 300
VR A = b A HH LR 41 55 R AT B FH S 300 13 300
B DX BS0E J7 A AT 9 S 85 #DIV/0!
oAt it 77 5 AT 60T H S s & 5T 25 AT 2l I S 213 #DIV/0!
BURF PR3 G SO A3 611, 827 521, 081 237, 361 -61.2
WU LG g S 10, 000 2, 351 10, 000
T H BE 285, 200 200, 000 -29.9
5B AR 19, 500 31,784 40, 000 105. 1
LR 5,073 #DIV/0!
S BT 926, 527 560, 289 487, 361 -47. 4




